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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x8=8

oo fil SRR et e ot 8
(a) Index register is a general purpose
register. (State true or false)

Index register 5! KR TR register.
(5% 7 FoF [0)

BO2FN 0016 “Contd.

e



(b) Full form of RISCis ____ - () DRAM requires an external memory

(Fill in the blank) refresh. (State true or false)
RISCT 4 ¥l T= . DRAM S Iig/S MR refresh A |
(3T HZ o3 ) | (8% & qoF &)
. q trol it | {g) Full form of DMA is .
(c) Micro-programmed con o. units are (Fill in the blank)
generally slower than hardwired control DMA ‘i"‘f "
A ) | I TA T |
unit. (State true or false) E——
(0T 312 23 )
Micro-programmed control unit @F
HGRITS hardwired control unit ©F g9 (h) The 8085 microprocessor has 16 bit
=71 address bus. - (State true or false)
8085 microprocessor$ 16 bit address
(d) Cache memory is used to reduce bus AT | (8% 7 9% )
average time to access data from the
main memory. (State true or false) 2. Define the following terms : (any six)
T (RS average access time AR 2x6=12
cache (W IRRT T | were Al AT @l Bt 2 (R vbl)

(3% & G5 [713)
(a) Control Unit

(e) One address instructions are used in (b) Index register
based machines.

Overfl
(Fill in the blank) (c) Overflow

. . (d) Grey code
One address instruction @i¥

wifET TZ© I/ J | (T 52 999 91) (e} Micro-operation
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() Instruction cycle
(g9 Memory stack
(h) Program counter
() Hit ratio

() Interrupt

3. Answer any four of the following questions :
5x4=20

fRireicn sifE6r ek Bex forl ¢

(a) Write brief description of basic
functional blocks of a computer.

TR CNIeRF FG QORRT 53 [dwel
A

(b) How floating point numbers are
represented in computer ? Explain.

FfE5F® floating point number (FEHF
Borgiom a1 22 A

() What is binary incrementer ? Draw
diagram of a 4-bit combinational circuit

incrementer.

Binary incrementer {2 4-bit
combinational circuit incrementerg
57 =i T4 |
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(e)

(9)

(h

Differentiate between hardwired control
unit and Micro-programmed control

unit.

Hardwired control unit ¥i$¥ Micro-
programmed control unit3 AR
foran

Briefly explain logic micro-operations.

Logic micro-operation (A 53 3t ot |

Briefly explain instruction cycle.

Instruction cycled 3¢ I 3t |

What is virtual memory ? Write brief
description of any one type of virtual
memory.

Virtual memory &2 R 9 aos
virtual memory HI(F I I |

Briefly explain addressing modes in
8085.

80853 addressing mode (I 7 =
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4. Answer any two of the following questions :
10x2=20

Rireieal gor emi e forat 8

(a) What is instruction format? What are
the type of instruction format ? Explain.
Instruction format &? Rfon oI
instruction format QT 3 T4

(b) Differentiate between SRAM and DRAM.

SRAM & DRAMA eI ol |

(c) Explain any two Cache replacement

policies.

Riceict 557 Cache replacement policy Eooil
=M

(d) Explain Interrupt driven 1/O and DMA
controlled 1/0.

Interrupt driven I/O 9% DMA controlled
1/0 3 w1
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(e) Describe arithmetic instructions of
8085 Microprocessor. '

8085 Microprocessord arithmetic
instruction I9q 331
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